Answering questions
Time: 90 Mins	Marks: 80 	Exam style: 
				Section A: 2,2,4,4,8,10 marks 
				Section B: 2,2,4,4,8,10 marks 
				Section C: Synoptic question across theme 1 and 2 – 20 marks 
Recommended:
10 mins reading and planning time split across the 3 sections. This leaves 1 minute per mark writing time. It is important to manage your time carefully to ensure all your questions are answered. 
Gaining top marks in section A and B:
2 Mark questions- what is meant by…?
	-Give a clear and precise definition (knowledge). Add a development point (understanding). The 	development point must add to the definition and not just repeat. 
4 mark questions: 
Three command words:
1) CALCULATE
a. Write the formula 
b. Fill in the numbers
c. Complete the calculation 
d. Express the number in the correct format e.g. %, units, £.
2) DRAW
a. For example, a supply and demand diagram. 
b. Draw and label the axis 
c. Draw and label a supply curve and a demand curve. 
d. Show the original equilibrium point. 
e. Based on the question show a movement along or shift in either the supply or demand curve. 
f. Show the new equilibrium.
3) EXPLAIN
a. Define the term in the question and/or make a relevant point. 
b. Explain how this relates to the business in the extract – link 2 points of application together. 
c. State why this will have the effect stated in the question e.g. why is it a benefit? How can it be used? What will be the consequence? 

8 mark questions: Asses two…
Paragraph 1:
· Make a relevant point (AO1 what is your point?)
· Explain how this relates to the business in the extract – link two points of application together (AO1 how does it relate to the business context?)
· Provide detail about the cause and effect (AO3 why will have the stated effect?)
· Present a counterbalance (AO4 why might it not have the stated effect)
Paragraph 2: Repeat structure above
10 mark questions: Assess… 
Paragraph 1 and 2 follow the same structure as the 8 mark questions.
Paragraph 3:
· Write a conclusion that prioritises your earlier arguments. For example:
· Which point is most significant?
· Which impact is the most likely?
· What is the most likely outcome: the why or why not? 
20 mark question: 
It is important to read the question carefully to recognise the cause and effect between a theme 2 and theme 1 topic. 
Paragraph 1:
· Define the business term that is the cause in the question
· Build a logical line of argument that is fully developed. 
· Paragraph should start with cause and finish with the effect. This should be done in 4 – 6 steps using connectives such as this means, therefore, leading to, which will result in. 
· Answer needs to be in context and therefore should have a minimum of 2 lines of contextualised analysis i.e. within your line of argument at least 2 of the steps are in context. 
· At the end of your argument add a counterbalance e.g. what does your argument depend upon or why might the argument be flawed e.g. the analysed outcome might not actually happen. 
Paragraph 2:
· Repeat the structure from paragraph 1 (without the definition) for a second argument. This should be from a different angle e.g. an argument against or a second factor. 

Paragraph 3:
· You have already presented a weighted argument with counterbalance on each argument. You now need to write a final evaluation. 
· State your conclusion e.g. how important is training?
· Prioritise the main reason you have reached this conclusion for this business. 
· Explain why this is more significant than the opposing argument. 
· Summarise what business lesson can be learn based upon this. 
· State and fully justify a recommendation that addresses the question. 
Writing a level 4 conclusion:
Step 1: Rephrase the question to offer an answer
Step 2: The main reason for reaching this conclusion – with development 
Step 3: Why is this argument more significant than the counter argument – with development 
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